
LHFL Assistant Model Paper 

 

Reasoning:  

 

1. Four of the following five are alike in a certain way and so form a group. \Vhich of the 

following does not belong to that group?  

(1) HR  (2) PR  (3) NP  (4) BE (5)VX  

 

2. If it is possible to make only one meaningful English word with the first, the fifth, the 

seventh and the eighth letters of the word ORGANISED, which of the followingwill be 

the third of that word ? If no such word can be made give 'X as the answer and if more 

than one such word can be made, give '¥ as the answer.  

(1)N  (2) D  (3)S  (4) X (5)Y  

 

3. The position (s) of how many letters in the word PRODUCT will remain unchanged, 

when the letters within the word are rearranged alphabeticatly ?  

(1) None  (2) One  (3) Two  (4) Three (5) More than three  

 

4. Mohan walked 25 metres towards South, took a right turn and walked 15 metres. He 

then took a left turn and walked 25 metres. Which direction is he now from his starting 

point?  

(1) South - East (2) South (3) Souto - West (4) North - West (5) None of these  

 

5. In a certain code BROUGl-IT is written as PSCTVJI. How is HEARING written in 

that code?  

(1) BFIQIPK (2) IFBQIPK (3) BFIQKPI (4) BFIQHOJ (5) None of these  

 

6. If'M' denotes '.,.'; 'K' denotes '-'; 'R' denotes '+' and T denotes 'x'; then 12 T 81\1 12 R 

16 K 14 =?  

(1) 48  (2) 38  (3) 10  (4) 20 (5) None of these  

 

7. Which of the following is the middle digit of the second highest number among the 

five numbers given below?  

512  839 475 984  748  

(1) 1  '(2) 3  (3) 7  (4) 8 (5) 4  

 

8. How many such pairs of letters are there in word ENABLING, each of which has as 

many letters between them in the word as in the English alphabet?  

(1) None  (2) One  (3) Two  (4) Three (5) More than three  

 

9. In a class of forty eight students AnuJ is nineteenth from the top and Jeevan is twelfth 

from the bottom. How many students are there between Jeevan and Anuj?  

(1) 17  (2) 16 (3) 18 (4) Cannot be determined (5) None of these  

 

 

Answers: 1. 4, 2. 3, 3. 2, 4. 3, 5. 1, 6. 3, 7. 5, 8. 5, 9. 1 



 

English sample questions:  

 

Direction 1-10: choose the word which is most opposite of the printed in bold.  

1. Cultural diversity in the working place can be good for business  

(a) similarity  (b) uniformity  (c) assimilation  (d) conformity  

 

2. Her manner has always been hostile to him.  

(a) sincere  (b) friendly  (c) fair  (d) good   

 

3. Would you like to work with an intractable person?  

(a) a good  (b) a faithful  (c) a compliant  (d) an intelligent  

 

4. Popular fiction in a sense has enriched world literature.  

(a) devalued  (b) undervalued  (c) depreciated  (d) impoverished   

 

5. The speaker was irritated with his puerile questions.  

(a) impertinent  (b) serious  (c) inane .  (d) irrelevant  

 

6. My old aunt, who is a spinster declared that all men are faithless.  

(a) a divorced lady  (b) a married woman  (c) an unmarried woman  (d) a widow  

 

7. The bank launched a deposit mobilisation.  

(a) terminated  (b) cancelled  (c) withheld  (d) discontinued  

 

8. He did not shed his hostility throughout his life.  

(a) hospitality  (b) friendliness  (c) kindness  (d) fidelity   

 

9. The management seemed very callous about the working conditions of the workers.  

(a) liberal  (b) careful  (c) sensitive  (d) responsible  

 

10. In this matter, it is difficult to persuade him; he is resolute about it.  

(a) unmindful (b) careful (c) indefinite (d) vacillating  

 

Answers: 1. b, 2. b, 3. c, 4. d, 5. b, 6. b 7. a, 8. b, 9. b, 10. d 

 


